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Qu estion 1 Primary 4 Science » Primary 4 Science (Term 2)

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Study the flowchart below carefully. Q, R, S and T are animals.

| Animals
| e 1
E'II"H!]E t Fewar fhan six legs

|
'i'ﬁ'fﬂl wings |_hll:| Wings WTth wings | ho wirmn&-_J
@ =] 5] a|

Oibmarse The animal shown below

Which leher, O, B, Ser T, reprasenis ihe amal.,‘ahme'-'

A)
B)
v C)

- » X O

D)
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,697,437
Qu estion 2 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Ida placeq some meabwvomms in 80 Ar-Sght cartanss as shown belons

ar-Tighl contmner

-

-

spple—— N T e

She obeerved thal the maahwoems died after o few weeks, Based on lha above
pxpenrmant, whai can she sencliide ahoul liwangg Ehengs.

A) Living things can reproduce
v’ B) Living things need air to stay alive
C) Living things can respond to changes

D) Living things can live without air, food and water

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,453

Question 3 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following is a common characteristic of fern and fungi?

¥v" A) They reproduce by spores
B) They trap sunlight to make food
C) They feed on dead plants and animals

D) They only need water and food to survive

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 16th Sep 2020
Last Modified: N/A

QID#: 23,697,465
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Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Study the ke cycles of Insects A and B below.

i ¢

a m; SO

Life cycle of lnaect A Life cycle of Insect B

Which of the Tollowing is true of the iife cycles shown abave?

A) The young of Insect A and B do not feed
B) Insect A has an egg stage while Insect B does not have an egg stage
¥ C) Insect A has a larval stage while Insect B does not have a larval stage

D) The young of Insect B does not look like its adult but the young of Insect A does

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,480
Question 5 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Megan planted & seed which grew inlo 8 young plant a5 ahown below.

Wikich of the following statements 15 free sboul the main function of e par
labelled Y7

A) It grows away from light

B) It holds the plant firmly to the soil
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v C) It supports the plant and keeps it upright
D) It absorbs water and mineral salt from the soil
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,497
Question 6 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
Which of the following systems takes in air in the human body?
v A)
B)
C)
D)
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Question Type:
Randomize Answers: No
Wed 16th Sep 2020

Question 7

Muiltiple Choice

Date Added:
Last Modified: N/A
QID#: 23,697,518

Study the classification chart below. !

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

I

Group X

Parmi
Butierfly

Mealworm Bastie

Group ¥

Frog
Fish
Miz=quita

A)

Group X

Group Y

Adult stage lives on land

Adult stage lives in water

Which of the following best describe Groups X and ¥7

B) | Life cycle has a pupa stage | Life cycle does not have a pupa stage

C) | Has a 4-stage life cycle | Has a 3-stage life cycle
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v D) Eggs are not laid in water | Eggs are laid in water

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,561

Question 8 Primary 4 Science » Primary 4 Science (Term 2)

Which of e following :lrrm?mnun: roprasants the 4 siages of he butterfly In
its life cycle?

v A) Df,—"ﬁ\‘
g
N\
LW
7 %
LW

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit

2 pts

6/41


https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697561
https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697561&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1516121
https://0cm.classmarker.com/6226088_NSAHAW0E.png

8/6/2021 ClassMarker - Manage Test

f’\
\,/

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,579

Question 9 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

A butterfly usually lays its eggs on leaves. How does this help in the survival of its young?

A) lIts larva can obtain more air
B) It pupa has space to grow larger
v C) lts larva will have a ready food source

D) When hatched, the adult can fly off easily

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,594

Question 10 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Hui Hui was given similar seeds io grow at home. She placed the saeds in two
containers, A and B. Aftar two weeks, only seeds in Containes A germinated,

m ‘,ﬁ
Containar A WOk Container B

Which of the following was likely the changed varfable for Hul Hul's
experiment7

A) | container A Container B

Placed in the garden | Placed in a dark room

B) |No water given daily [ Water given daily
https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit 7141
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0

v D) |Placed in the cupboard |Placed in a refrigerator
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,620
Qu estion 11 Primary 4 Science » Primary 4 Science (Term 2)

The diagram below shows the stages of germination (A, B, C and I)) of Plant Y,

sl
REARE 3E

A B c H

Which stage, 4, B, C or D, shows the start of germinalion?

A) A
v' B) B
C) C
D) D
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,625
Question 12 Primary 4 Science » Primary 4 Science (Term 2)
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Study the Ha cycld shown balow. |
Seed

Adult Plant Young Plant

o

Which of the following living things has the above life cycle?

A) Moss
v' B) Papaya Tree
C) Bird's Nest Fern

D) Bracket Mushroom

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,636

Question 13 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

In & plaslic ienk, thers are 4 badls of diferend materials, Matthew lakes a
maget and moves it under the tank in the dreclion as shown balow. 'Which of
e fallowing balls will move with the magnet?

{2) goid bey (3 Aluminium ball

14} iran ball

1) cecamic ball _\ 'l’ —
‘\Xi/ ~
(R~ N

[E——.

magrsal

A) 1
B) 2
c) 3
v' D) 4
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,644
Qu estion 14 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Mr Lag wantad o sslect a malerizl bor making the cyler-casing of an air-
conditioner remale conralle

Ak-conddioner
Remote Contralle

s

Thet fallowing table shiws the propetes of four materials

e i —————
=t S | .
M abarial | Can it break sasily? | 1s it light?
‘. e |
Y ll"k- I‘ras |
S T ——— —— — e
B :"I"-H ek i
I = PR
— | |
5= 1 N M
. .
] Yias M

e o — — = -

Which of the Tollowing materats, 4. 8. G and D, is most suitable fof Mr Les to
make the cuter casng of Ibe ai-coadibonar rernoe conirm?

v A) A

B) B
C) C

D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,651
Question 15 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Muthu carned out an expenment with a bar magnet and 4 other bars, A, B, C
and D, of dilerent malerialz. The Endsuf'rha chijscls are labelled X and Y.
—F

g HE X ¥

magniel bear

He Brought the north-seeking pole of the bar magnat near bath ends of A, B, C
and D and recarded his abservations in the table below,

| Reaction to the north-seaking pole of the
magnat
Bar L

| x A

B atiract T attract

B repel altract
- no reaction | ra messnelon

) ~ atiract repel

Which of the followsng stalemants is conmecl?

A) Only A is a magnet
B) B, C and D are magnets
C) Only A is made of magnetic material

v' D) Only A, B and D are made of magnetic materials

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,669
Question 16 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following is not matter?

A) air
B) salt
v C) light

D) water
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,673
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Qu estion 17 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Kevin lowerad a stone into & measuring cylndar containing some waler. He
observed a change in water level as shown in the diagram belowl.

slons

Which of the following explains why the waler evel changad?

A) The water has mass

B) The water is not matter
¥ C) The stone occupies space

D) The volume of water increased

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,687
Question 18 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

rnw botthes, P, &, R and 5, contamed waber One of them bad been put inba a
Teazer.

Which of the bottles had definilely been placed in a freazer?

A) P
B) Q
v C) R
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D) S

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,695

Question 19 Primary 4 Science » Primary 4 Science (Term 2)

A clown inflated a long yellow balloon and twisted it into the shape of a dog. What properties of air in
the balloon did he change?

A: The shape of the air
B: The mass of the air
C: The colour of the air
D: The volume of the air

A) AandB only

v' B) AandD only

C) BandConly
D) CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,719
Question 20 Primary 4 Science » Primary 4 Science (Term 2)

Theee ohjects, A B and C, are plased on a balanes.

A c

Which of the following siaiements & cormact ¥

A) Ais the heaviest
v' B) Bis the heaviest

C) As heavier than B

D) Cis heavierthan B
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Question Type:

Question 21

i 1hee table below,

Multiple Choice
Randomize Answers: No

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,734
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Primary 4 Science » Primary 4 Science (Term 2)

Twio identical syringes are fillad fully with unknown substances, E and F. 3&
wsed her finger fo cover each ayringe 26 shown in the diagram belbw. The
platon is pushad down and the diatanca moved by the piston s reconded by S

A) | substance E | Substance F

Slime Water

B) Water
D) |siime

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 22

Multiple Choice

No

Wed 16th Sep 2020
N/A

23,697,754

piston

substance
3 Distance moved by piston {cm) l
Syringe with E Syringe with F ‘
| 2 0 ]

Which of the fallawng are tha subsiances, E and F?

Primary 4 Science » Primary 4 Science (Term 2)
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John purmped 100 cm™ of air inlo an 800 ci® jar that had 300 om® of water in i

as shawn in the diagram
slopper
Bir —

What is the volurre of air in the jar i
A) 100cm3
B) 500cm3
C) 600cm3
D) 800cm3

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Multiple Choice

No

Wed 16th Sep 2020
N/A

23,697,767

Which of the following is a source of light?

A) sun
B) moon

C) mirror

D) aluminium sheet

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 24

Multiple Choice

No

Wed 16th Sep 2020
N/A

23,697,778

100 cm” air
pumped

Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

James has an object that allows some light to pass through and another object that does not allow light

to pass through. Which objects does he have?

A) Wood and clear plastic
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B) Clear glass and magnet
¥" C) Tracing paper and cardboard

D) Frosted glass and tracing paper

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,798
Question 25 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

A cal ran after a mouse. The mouse ran nbo & hole in a wall. The cat stopped
in front of the wall as it was unabla o see the mouse.

<

i -E:"—\-.-L W % '-.3

! e =

__ll‘.é\ : hohe.-
cat H"hih

Which of the following ie a correct explanation of why the cat could not see the
mouss?

A) The mouse is not able to reflect light
B) The wall allows light to pass through
v C) The light of the lamp travels in a straight line

D) The holes does not allow light to pass through

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,817
Question 26 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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The diagram below shows a fruck on the road.

A

Which pavt, A, B, C or D, of Ihe truck must be made of a fransparent material?

A) A
B) B
C) C
v'D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,827
Question 27 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Four boye are peering o a wooden Mmage Wnnel thal has fva ploces of
maTars as shown below. Which boy cannot sse the i lamp?

lan wiatden maze funnel

7R Nl
il ﬂf! ' , |:> (4]
|

vV A 1
B) 2
c) 3
D) 4
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,838
Qu estion 28 Primary 4 Science » Primary 4 Science (Term 2)

Fred camled put an experment n & dark room Sheets, A B and C, are
arranged in & slrafght line as shown in the diagrarm below

el P
\ | s |.
it foochight e e
A B Cc

Fred cheened n bright circulas patch of light on B only. Which of the following
i dafinitaly true?

A) A is made of clear plastic
B) B allows light to pass through
C) C does not allow light to pass through

v D) A and B do not allow light to pass through

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,857
Question 29 Primary 4 Science » Primary 4 Science (Term 2)
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit

2 pts

0 pts

18/41


https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697838
https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697838&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1516121
https://0cm.classmarker.com/6226088_MJR6VVDH.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697857
https://www.classmarker.com/a/tests/qb/manage/?test_id=1516121&question_id=23697857&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1516121

8/6/2021 ClassMarker - Manage Test

was designed in such a way that it requires manual assistance.

Study the flowchart below carefully, O, R, S and T are lhing things

Livirg Thing

P g No

o Does i have ™

2 &

g
]

{a} Bazed on the Bowchar abova, siale ane difference bietween B and 5 [1

(b} Based on the flow chart sbowe, stale one  similarty in the
charactenscs of Sand T (1

&

(cy Can rfl be a plastic ball? Explain wiy Il

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,697,932

Correctly answered feedback
A) Living thing R does not lay eggs but living
thing S lays eggs.
B) Both living things S and T lay eggs.
C) No, () cannot be a plastic ball. A plastic ball
is not a living thing.

Incorrectly answered feedback
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A) Living thing R does not lay eggs but living
thing S fays egps. |

B) Both living things S and T lay eggs.

C) No, () cannot be a plastic ball. A plastic ball
is not a living thing.

Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Question 30

Tha giagram below shows a plant andd ils parks

ia} Mame the plant pars, A, B. Cand D, m thie Baxes balow 121

A

Accepted answers:

v leaf

Question Type: Free Text

Date Added: Wed 16th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,697,986

Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Question 31
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Accepted answers:

v fruit

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,697,994

Question 32 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Accepted answers:
¥’ Root

v roots

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,697,997

Qu estion 33 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
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Accepted answers:

v stem

Question Type: Free Text
Date Added: Wed 16th Sep 2020

Last Modified: N/A
QID#: 23,698,017

Qu estion 34 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

State a function of plant part C

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A

QID#: 23,698,037

Correctly answered feedback
Plant part C helps to absorb water and mineral salts from the ground

Incorrectly answered feedback
Plant part C helps to absorb water and mineral salts from the ground

Question 35 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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The diagram below shows the human digestive system

State the part where digestion begins. Part ___

v ' A) A
B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,064
Question 36 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Explain how biting and chewing of food by the teeth affects the amount of food digested in the mouth

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,084

Correctly answered feedback
The more biting and chewing, the food will be cut into smaller pieces to be digested by the saliva in
the mouth

Incorrectly answered feedback
The more biting and chewing, the food will be cut into smaller pieces to be digested by the saliva in
the mouth
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Question 37

Study the classification chart below

[ ]

[ TR
| Sstage fite cyce | | astage life cyce |
|

Primary 4 Science » Primary 4 Science (Term 2)

I ]
| Livy dsgrga in wabet ||;L.:'|Imu'|:lh|lrd—| |_L.|.1mhmell Lay sggs on land |

State one similarity in the life cycle of Animal X and the life cycle of a cat

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,104

Correctly answered feedback
Both animal X and the cat has an egg stage in their life cycle

Incorrectly answered feedback
Both animal X and the cat has an egg stage in their life cycle

Question 38

Which of the letters W, X, Y, Z, represents the following animals?

A butterfly:

A) W

B) X

C) Y

v D) z

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,121

Question 39

A frog:

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit

] K [ ]

Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

0 pts

0.5 pts

0.5 pts
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v A) W
B) X
C) Y
D) zZ
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,131
Qu estion 40 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

AN unknown insed has 3 stages in ds e cycla, The gragh below shows the
duration of each slage,

s MNumber of days

AR . R
L
|

L] ;

Egg Mymph Adult Siage

At which of the above stages is the insect able to reproduce?

A) Egg
B) Nymph
v/ C) Adult

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,164

Question 41 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Based on the graph shown above, how long would it take for an egg to become an adult after it has
been laid?
Accepted answers:

v’ 8 days

v’ 8days

v It would take 8 days
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v 8

v eight days

v eight

¥ It would take 8 days.

¥ It would take eight days.

¥ It would take eight days

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,698,186

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Based on the graph above, how long does it take for the insect to complete one life cycle.

Accepted answers:
v’ 16 days
v’ 16days
v It would take 16 days
v 16

v It would take 16 days.

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,698,200
Question 43 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

If the above insect is a cockroach, give a difference between the characteristic of its nymph and its
adult.

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,209

Correctly answered feedback
The cockroach has wings but its nymph does not have wings

Incorrectly answered feedback
The cockroach has wings but its nymph does not have wings
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Question 44

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Eric placed similar seads, J, K, L, M and N in a room. Thay ame given different

conditions and the resulls of héa experiment are shown balow,

= ~ Conditions
Bood graw
swds | O | iom | subsiancex | [Mo3seding
0 |Yes | e Yes Yea |
K Mo Tas Tes Mo
L vag Yes Mo fas
7] No Mo ek Mo
N e o ir-m Yas

{#) Based on ihe above resulls. which conditionis} atated In itha fable i=fare
necasgary for (he saed fo porrninate?

nl

=] Whal can Eric conclude aboul the presence of Substance X and ight on the
permimalion of a saed?

A}

(£] Enc's leacher suggested thal Eric repeats Ivis axperlment firee mana Himes.
Henwe will doéng this halp in the rasulls of Erd's experimenis? [1]

Question Type:
Date Added:
Last Modified:
QID#:

Essay

Wed 16th Sep 2020

N/A
23,698,236

Correctly answered feedback

Incorrectly answered feedback

A) Water is necessary for the seed to germinate.

B) Eric can conclude that the presence of
substance X and light are not needed for
germination.

) It will increase fhe reliability of the results of
Eric’s experiments.

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit
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A) Water is necessary for the seed to germinate.

B) Eric can conclude that the presence of
substance X and light are not needed for
germination.

) It will increase fhe reliability of the results of
Eric’s experiments.

Question 45 Primary 4 Science » Primary 4 Science (Term 2) O pts

This diagram belvw shows same of he stages in (e e ek of @ pland.

| B

[ab  Afwhich simge, L M or B, does the plant make #s oen food? Explain [1]

fb)  Haw can you iefl o plan has grown imo an acal plam? i1

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,253

Correctly answered feedback

A) Stage N. The leaves can trap sunlight.
B) The plant has flowers/fruits.

Incorrectly answered feedback
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Question 46

strength of the sling

ClassMarker - Manage Test

A) Stage N. The leaves can trap sunlight.
B) The plant has flowers/fruits.

Primary 4 Science » Primary 4 Science (Term 2)

. Sam sst up an expariment o find out how the thickress of a string would affect the

T
é—m“uﬂmrm

He used 3 sirings, &, B and C, He added weights on e tray until the siring broke.
The takds halow shows tha nurrhar of waighle thal each gtring cowld held before i

Correctly answered feedback

Incorrectly answered feedback

Question 47

v" A) Length of string
v B) Material of string
C) thickness of string

¥ D) Mass of weights

brokon.
Siring Thickness of string Mumber of wlghts that each
junit] siring could hald before it broke
i e 5 —]
B 2 T
I G o 3 o 16
{a) Which siring, A, B ar C s the strongest? Explain your answer 2]
L
Question Type: Essay
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,263

String C. String C could hold the most number of weights before it broke.

String C. String C could hold the most number of weights before it broke.

Primary 4 Science » Primary 4 Science (Term 2)

Select the constant variable(s) to ensure a fair test in the experiment

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit
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Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,280
Qu estion 48 Primary 4 Science » Primary 4 Science (Term 2)

Bath placed two idanticai ring magnais, A and B, through a wooden red an a
wooden baga. She obeanved thal the magnets, A and B, were 8 a disiance away
frovn eaich other et shown in the diagram below,

_~wpoden md

—

DHagram 1
{a) Explain why the magnels, A and B, were &t 8 disiance aaay from each other [1]

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,293

Correctly answered feedback
Magnet A and B had their like poles facing each other and they repelled each other

Incorrectly answered feedback
Magnet A and B had their like poles facing each other and they repelled each other

Qu estion 49 Primary 4 Science » Primary 4 Science (Term 2)

The north-seeking pole of the magnet, A, is shown. Identify the magnetic poles of the surfaces, X and Y

X:

Accepted answers:
¥’ South-seeking pole

¥’ South - seeking pole

Question Type: Free Text

https://www.classmarker.com/a/tests/test/?test_id=1516121&trk=edittest_inrow_edit
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Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,698,310

Question 50 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
Y:

Accepted answers:
¥ north-seeking pole

¥ north - seeking pole

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,698,319

Question 51 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Beth has a toy flying saucer as shown balow

magnet &t Part P——7e0 _

flioating Nying . — ‘@3

sacer with magne!

magnet af Part Q@ —

{c) Explain why the flying saucer t= fioating. [

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,341

Correctly answered feedback

The like poles of Part P and the magnet in the floating flying saucer are facing each other. The like
poles of the magnet at Part Q and the magnet in the flyer saucer are facing each other so those
magnets are repelling each other.

Incorrectly answered feedback

The like poles of Part P and the magnet in the floating flying saucer are facing each other. The like
poles of the magnet at Part Q and the magnet in the flyer saucer are facing each other so those
magnets are repelling each other.
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Qu estion 52 Primary 4 Science » Primary 4 Science (Term 2)

Abduf made @ hale at the base of & plastic cup and then sealed il with tape. When
he pushed the inverded cup inta the basin of waler, opdy 3 small amount of water

pntered (he cup.
- -
cup | — basin
— wialEr
{a) Explain why a small amounl of water entered the cup? il
(b} Giive @ reasan why ihe waler el in ihé cup doea nod mowve any higher. |4

{£) Dascribe what woukd hapgen b e wabar fevel in tha cup i Abdul mmoved the Lm‘.u-
Froem the cup. i

{d} Give an explanation for Your arswer in1c} (L]

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,366

Correctly answered feedback
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A) Air in the cup occupies space but air can be
compressed slightly so when it was pushed into the
basin of water, only a small amount of water entered

the cup.

:B)T’I'he hole on the base of the plastic cup was'
sealed, it prevented air from escaping so the water
cannol occupy the space that was previously
occupiéd by air.

() The water level in the cup will rise until it is
the same as the water level in the basin.

D) The air in the cup escaped from the hole
allowing water to occupy the space that was
previously occupied by the air.

Incorrectly answered feedback

A) Air in the cup occupies space but air can be
compressed slightly so when it was pushed into the
basin of water, only a small amount of water entered

the cup.

:B)TThE hole on the base of the plastic cup was’
sealed, it prevented air from escaping so the water
cannot occupy the space that was previously
occupied by air.

') The water level in the cup will rise until it is
the same as the water level in the basin.

D) The air in the cup escaped from the hole
allowing water to occupy the space that was
previously occupied by the air.

Qu estion 53 Primary 4 Science » Primary 4 Science (Term 2)
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James filed & measuring cylinder with 25 cm” of sand as shown in he dagram
bedow.,

masuring oylindes

He then poured 35 cm” of water info Ihe same measuring cylinoer

ta] What would Be (b2 folal vwolume of sand and waler shown on Ihe mMeasiEng
stale of fhe cylindes? Tick your angwer in the inbie bolow ]

A) More than 60 cm3
B) At60cm3
¥ C) Between 60cm3 and 25cm3

D) Below 25cm3

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,698,446
Question 54 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Explain your choice.

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,454

Correctly answered feedback
The water occupied the space between the sand which was previously occupied by air.

Incorrectly answered feedback
The water occupied the space between the sand which was previously occupied by air.

Question 55 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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[} Jarmes rapeated he expedment but used marbles instead of zand,

B0 =
8 —
Ay ==
m—
+— 25 omn3
mﬁ.x%

.

Alter pouring the 35 o of walar inlo The cylinader, will Bhe watar vel be highes
o lowar han fn (a)? Explain why, [

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,467

Correctly answered feedback

C) The water level will be lower than in (a). The
air space/gap between the marbles were bigger than
in (a) and the water could occupy the space which
was occupied by the air.

Incorrectly answered feedback

C) The water level will be lower than in (a). The
air space/gap between the marbles were bigger than
in (a) and the water could occupy the space which
was occupied by the air.

Question 56 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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The table below shows the properies of A, B, C and O,

Fmp-h-rﬂu ] & B c D
Dioes It hive miass? Yoo Mo Yag Yes
Can it be seen? Mo [ Mo Yed Yos
mihMH definite | Mo Ne Yes | No
LD-uaalH'lﬂd:diﬁn’rh volume? |No | Mo Yes Yes

() Which of the above, A B, G or D, can represent musicy [1]
A) A
v'B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,479
Question 57 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

If D is matter, what state of matter is it?

Accepted answers:

v Liquid

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: Mon 21st Sep 2020

QID#: 23,698,493
Question 58 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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-

{e) When the above candle is Ii, the wax maits, State “sclid”, “liquid™ of “gas” for the
change ol'state of the was as it melts in the boxes bekow, i

:Lh

Change of state of candle wax

melts

Accepted answers:
¥’ solid melts liquid
v’ solid,liquid
v solid, liquid
v solid , liquid

v solid liquid

Question Type: Free Text

Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,698,520
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»  Anaxpaiment wes conrducied 1o find out the amaunt ol light 1hat would pass through
4 diffedent matenals, P, O, B and 5. 4 light sensar was used bo detact now much

light passes through sach malenad. The selup for tha experiment is shown befiow.

Taieh Maleria

Light sermar

a

disance, d * \“ Takie

When no malarisl wes placed betwesd the lonch and lght sansce, tha smaunt of
light detacied was GO0 units.

Tha following tabke ahows the results whan differend matorials wene placed bebaeen
the leieh arsd Bghil senaar

Materlal | Amount of light detected

| {unlts)

P 4T
= | -

| R 1an
l_ g | ] i

[}
(&) Based on the labke above, which of tha materals, P, O, B of 5, adll be most
suftabie tp make past ¥ of the speciacles bedre which is usad Tor reading? Give
a reazan for your snoswer, 121

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,536

Correctly answered feedback

A) Material P. Material P allows most light to
pass through so that the person wearing it can see
the words in a book clearly and will be able to read
properly.

Incorrectly answered feedback

A) Material P. Material P allows most light to
pass through so that the persen wearing it can see
the words in a book clearly and will be able to read
properly.
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Question 60

on the light sensor for all the materials?

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,555

Correctly answered feedback
Move the torch and light sensor closer to the material

Incorrectly answered feedback
Move the torch and light sensor closer to the material

Question 61

¥ and £ They wene arcanged in a row as shown balow

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Without charging any of the apparatus or equipment used, suggest how you can increase the readings

Primary 4 Science » Primary 4 Science (Term 2)

A boy locked acroes the room at objects, A, B and C, and thres places of glase, X,

T
' @
| ]
E
| B
X ¥
H " Screen |  Propenty
| — Allow mast light i pass teaugh
T Allcw soma fight o pass through
Z Dot rol afaw ght o pass (hrough

Which of the objects A, B or C can the boy see?

v A A
v B) B

c cC

Question Type: Multiple Response
Randomize Answers: No

Grade style: Full points if all answers are correct
Date Added: Wed 16th Sep 2020

Last Modified: N/A

QID#: 23,698,575
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Question 62 Primary 4 Science » Primary 4 Science (Term 2)

el ael 9 an coperimen] @& shown in the dageaen bl

T . It Emp

FTE T
-~
|~

e

Wt Henr facas thi maron, he is abl (0 e hoo A claary Espdrs! hirm Dot not oo
B, Thee pat of light shawn in e asove desgrarn as dofied lines aliows Hanil fa e

o A,
1o Dirary i thia arrowes. an (i doftad ling in the st diagram 1o show The dirscton
pd tha path of Eght *

[t WWith the bedp of the: diagram. axplain how Henri s sble 10 see box A even hough
it k& berind him 2

Question Type: Essay

Date Added: Wed 16th Sep 2020
Last Modified: N/A
QID#: 23,698,604

Correctly answered feedback

A) :
B’ug.jt.-.,&-.-....- - I_i'l Eﬂmp
s 3
. _.%_.a-'" mirror
Henri

Box B

B) The light from the lit lamp reflects on Box A,
bounces off the mirror and enters Henri's eyes.

Therefore, he is able to see Box A even though it is
behind him.

Incorrectly answered feedback
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A) ;
B—:I_l_tj A‘E lit lamp
5.
B mirror
Henri

Box B

B) The light from the lit lamp reflects on Box A,
bounces off the mirror and enters Henri's eyes.

Therefore, he is able to see Box A even though it is
behind him.
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